HPS Unit 6 Practice 2022 Name:

Sketch (insert image) the Periodic Table and label the following:
oxidation states, energy levels, rows/periods, columns/families/groups, metals,
non-metals, atomic radii pattern, electronegativity pattern Slggéi%
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1. H 2.3 3N 4-C- 5.Na
6.Br : 7.0: 8.+ Se: 9. Ca 10.Ne ;

State the type of bond that is most likely between the given elements. (1 point)

m C -+ '
11. Na'& Br 12. H& F 13. Mg &1 14. Cl1& Cl

C < ol T
15. H& O 16.Li& S 17. 0 & O 18. Mg & O

For each of the covalent bonds listed above, draw a Lewis Dot structure. For each of the
ionic bonds listed above, draw the two ions in the bond.
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27. Compare and contrast ionic and covalent bonds.
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Balance these reactions

I.

10.

11.

12.

13.

14.

I5.

16.

17.

AH, + 0, ~—>QH,0
N, +3H, -—->dNH,;
Sy +100, --->8S0,
AN, + 0, —>aN,0
AHgO --->gHg + 0,
Zn +gHCl --=> ZnCl, + H,
aNa +3H,0 -—->3NaOH + H,
Q PO, > H,P,0, + H,0
CioHys +8Cl, —>{pC HeHCI
2 AOH); +3H,80, ---> Al(S0,); +{H,0
4 Fe +30, --->3Fe0,
Fex(SO,); +6KOH --->3K,80, +JFe(OH);
2 CHO, 150, --->4CO, +,H,0
A Al +3Fe0 > ALO, +3Fe
Fe,0; +3H, —->2Fe +3H,0

CQ C2H2 +SOZ "'>4 COQ_ +3\H20

K,0 + H,0 --->J KOH



Label the Reaction Type: C=Combustion, S=Synthesis, SD = Singie Displacement, DD = Double
Displacement, D = Decomposition

D 1. CaCOy,, — Caly + COyy,

SR 2. Mgy, + H;Op — MgQOy + Ty

S 3. 2P, + 3Cly,y — 2PCly,

SR 4. Fe, + CuSOuuqy — FeSOu., + Cug

C. 5 CHyy + 20y, — COy,y + 2,0,

D 6. 2KClOyy — 2KClyy + 30y,

DR 7. BaCly,, + Na; SOy, — 2NaCly, + BaSOy,
DR 8. HCl,, + NaOH,, — NaCl,, + HOy

C 9. 2CH,qy, + 130y, — 8COy, + 10H,0

SHORT ANSWER.
I. Why does increasing the concentration of reactants cause the reaction rate to increase?

T cone = Treactants = Teollistons = T Rote

2. Why does lowering the temperature of a reaction cause the reaction rate to slow down?

¥ remp = Siowar%@(% = colliStoms = ¢ ale

3. How does a catalyst cause the reaction rate to imcrease?

tatatys & decveases ot nvedion € pescled 4e
Mdlke e vieaptioe, yoorie

4. How does the surface area affect reaction rates?

TSA= % exposure of reactants < 4 rote






